2INI—=9 77 )r—,a
B3m RYNI—=27 7 )ir—=,a0)
70952 9T

AH @AXHR
(423W AR AT 1 AT 77— X 3R)




Aroa—i

9A27H 1@ 'TCP/IP7AarINAR1L—b]
10848 2[E NJavalckd1R2709737 )
10A11H RB/3E I RYMNI—I7 TV r—avD7TRIZZITETIV]

10A18H 54[E I
10A25H 585M@E] Iy
11A8H %6ME I

11A158 S|7@E T

avalc kdxYMNI—9709537 ]
avalckdxYMNI—9709337 |
avalckdxYMNI—9709337 )
avalckdxYMNI—9709337 ]

11A17H /8Mm 'yx77n773 71220 T

RFEHRE (1)



Aroa—

118228 %9l JavaScriptic&kd 72147 /AR 27709537 )

11A29H 510M@E I
12A6H SE11[E 'y
12A13H %F12[@E Iy
12A20H 513M@E I

1HA10H 514[E 'y

avaScriptlckd 7217 01K 77095327 )
avaScriptic k37217 MR 227709537 )
avaScriptic k@217 MR 7709537 |
avaScriptic&kd 2217 /MR 7709537 |
avaScriptick 37717 /MR ] M fR5RE (2)

1A19H H15E NFEHEEEH



- HEREZRHL TS



« ZHEIUDPICE BT —2DXRETOV T LE(ERTS



2F70tR -2 IVFALYRE

- Zh 58S DatagramSocket.receive (), ServerSocket.accept (),
BufferedReader.readLine () &#&R7Ov+93—N
« FEHDOTOTFLDOER - T—2EFOTNBEEIHIDOUEBEZTALL
« 2NF70t AL (fork) <2 FALYREICE DA TRIBHUE
* TRIZECNVF70LRAMEOBER. COBBTIEZINFALYRETHOTS.

_ FEBHTOER 4, HEBITOER 4
727217 MA -
o ——| BROFEfIF EROZHIT
£6 . MIB7OH2R mE7OER
a it
H—E Rig —— I Y—EREH




2F70tR -2 IVFALYRE

- Zh 58S DatagramSocket.receive (), ServerSocket.accept (),
BufferedReader.readLine () &#&R7Ov+93—N
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« £91& Java (cHBITDALYRDERGEICDOLVTES

« ALYKIE Thread75 A DY 795 AELTERLTHINVS
e Runnablef>471—R ZRETIEVDH ELHD(HCODERTIIBE)
https://docs.oracle.com/javase/jp/8/docs/api/java/lang/Thread.html

« Thread thread = new Thread () ;
thread.start () ; ‘
ELT, 1R RERLTHS, ALYREARSZ—MNTD
» new Thread () 9%&, AV AR V72H(IREDALYRT)RTEND
e thread.start () 33&, run() XJYRH(Fr7=LALYRT)RITENS


https://docs.oracle.com/javase/jp/8/docs/api/java/lang/Thread.html
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thi=.senderBeceiver = new UDPSenderBReceiver(thi=s, "localhost", 7777, 88BEB):
thi=.=zenderReceiver.start ()
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« 723 byteBDELYI ELTEREETND
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e DatagramSocket75 A & DatagramPacketZ7 A ZH(\5
e cf. TCPIZ Socket27 A& & ServerSocket75 A ZH\5
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70954 7095 L
| new DatagramSocket () | | new DatagramSocket () |
} }
| new DatagramPacket () | | new DatagramPacket () |
} }
| send () /receive () F—2DER(E send () /receive ) |

! !

| close () | | close () |
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70954 7095 L
| socket () | | socket () |
| |
| bind () | | bind () |
| |
| sendto () /recvirom () F—2DER(E sendto () /recvfrom () |
| |

| close () | | close () |
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try {

byvte[] byte=s = ztring.getbBytes()
DatagramPacket packet = new DatagramPacket (bvtes,
thi=.=socket.=zend (packet)

catch (SocketException =e) {
se.printStackTrace () :

catch (ICException ioce) |
ioce.printStacklrace () :

« NLF)F—20D%(E

try {

bytes.length,

byte[] bytesz = ByteBuffer.allocates(4) .putIntii).arrayi():

DatagramPacket packet = new DatagramPacket (bvtes,
thi=.=socket.=zend (packet)
catch (SocketException =e) {
se.printStackTrace () :
catch [(ICException ioe) {
ioce.printStacklrace () :

byvtes.length,

thi=.addre=ss=s):

thi=.addre=ss=s):
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byte[] buffer = new byte[1024]:;
DatagramPacket packet = new DatagramPacket (buffer, buffer.length):;

try {
this.=socket.receive (packet);
catch (ICException ioe) {
ioe.printStackTrace();
break;

byte[] data = packet.getData():
String string = new String(data):
System.out.println (string) ;

this

w

pplication.setString (string)

s NMF)TF—2 DS

byte[] buffer = new byte[1024];
DatagramPacket packet = new DatagramPacket (buffer, buffer.length);

try {
this.socket.receive (packet);
catch (ICException ioe) {
ioe.printStackTrace():
break;

byte[] data = packet.getDatal():
int i = ByteBuffer.wvrapi(data).getInt():
System.out.printlin(i);
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« B{EALYRTUHETESLEZRTDNFFENRTI(ITI-/N\VITRLE)
« V1R IICRREB N EEFT-NINY I A2 AERWLD

byte[] buffer = new byte[l1024]; byte[] buffer = new byte[1024];
DatagramPacket packet = new DatagramPacket (buffer, buffer.length):; DatagramPacket packet = new DatagramPacket (buffer, buffer.length);
try { try {
this.=socket.receive (packet); this.socket.receive (packet);
} catch (ICException ioe) { } catch (ICException ioe) {
ioe.printStackIrace() ioe.printStackTrace():
break; break;
byte[] data = packet.getData(): byte[] data = packet.getData():’
String string = new String(data): int 1 = ByteBuffer.wrapidata).getint();

System.cut.println(string); System.ocut.println(i);

{ this.application.setString(string): /7 this.application.setlnt (1)

REALYR
D1V AR R ‘
4 N\

<—Jy x4 DatagramSocket.receive ()
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» 708274 (UDP%.java) 71 WCIE-LT,
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